Chapter 21 - The Kinetic Theory of Gases

2 | A sealed cubical container 20.0cm on a side contains
three times Avogadro’s number of molecules at a tempera-
ture of 20.0°C. Find the force exerted by the gas on one of

the walls of the container.
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/O A 5.00-L vessel contains nitrogen gas at 27.0°C and a pres
’ . i . . . .
sure of 3.00 atm. Find {a) the total translational kKinetic en-

ergy of the gas molecules and (b} the average kinetic en-
ergy per molecule.

e /e"- - Pl - (2.0)($.09)
@) AT 2T (5.052)(Z20)

- 0. 6/0 Ma/c, = (0.6/0)(6.02/76/0%>

= 2(7x (6 > ma/z cc«/z_s




27

]

LE = 247 =090 35" 5 )i ) (300)
= Z-Z—/?(/O—Z{J////ml/tcw—/t_

) ”h (Z 57&/02’3 )((.)// XKO’M) = Z‘.}??C/G‘g :5/

e —

(é> as c«Zavt\ K. =621 x/of)‘{ T/md/fc,u,/z

].—Kir in a thundercloud expands as it rises. If its initial tem-
perature is 300 K and no energy is lost by thermal conduc-
tion on expansion, what is its temperamre when the initial
volume has doubled?
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